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Merit (15)  	
  

Question One – M5 
	
  

Part (a) The candidate provided evidence of Merit by fully explaining the impact on future sales for 

the business and demonstrated business knowledge with the use of relevant business terms to 

support the answer (trade barriers, trading blocks, business risks, and competition). 

	
  

Part (b) The candidate made no attempt of this part of the question so therefore was unable to score an 

M6. 

	
  

Question Two – M5 

	
  

Part (a) The candidate provided some evidence of Achievement by explaining the role of 

manaakitanga and explaining one impact of demonstrating whanaungatanga. The candidate failed to 

add the extra information needed to fully explain one impact of demonstrating whanaungatanga. 

	
  

Part (b) The candidate explained a strategic response to create greater cultural awareness 

by employees. 

	
  

The candidate fully explained a positive impact of the strategic response (explained the impact the 

reason for the impact, and how this impact will affect the business). The candidate demonstrated 

business knowledge with the use of relevant business terms to support the answer (kaitiakitanga, 

quadruple bottom line, stakeholders, competitive advantage) 

	
  

The negative impact is explained only and does not add the extra information needed to take the 

answer to a fully explain (how the negative impact will affect the business). 

 
The candidate failed to add new information into the justified conclusion and just repeated the 

information already given in the positive and negative impact so was unable to score E7. 

	
  

Question Three – M5 

	
  

Part (a) The candidate provided evidence of Merit by explaining one impact on sales and 

fully explaining the impact on the workforce. 

	
  

Part (b) The candidate made no attempt of this part of the question so therefore was unable to 

gain another fully explain which would have taken the mark to an M6. 


